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Cha o1 SSESAL FANBOYS
(coordinating conjunction) (For, And, Nor, But, Or, Yet, So)

st 2&= OE 289 that, what, if, whether, ...

BROAZ TSHA|F|

= WAlol 1A

o AT AL

Y (subordinating conjunction)

5t 212 12 2Eto as, because, when, while,

AMO|Z ZHA|T|= whereas, although, ZAHICHY

HAlo| A A Al ...
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Sentences

All of my friends boycotted the concert.

Ticket prices were outrageous.

Recently the population of Kirkland has
grown.
Our traffic problems have also grown.

Dave may study architecture.
Dave become a contractor.
He likes buildings.

A sentence

All of my friends boycotted the concert; ticket prices were
outrageous.

Recently the population of Kirkland has grown, and our
traffic problems have also grown.

Dave may study architecture or become a contractor, for
he likes buildings.



™ ’é*.—.*f(conjunctlon)ol Zesh|Ct HZE 2&at 22 ALojo| &
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St 7tX| Z=olgt MO| JELICE commas MEAL P&t 5HX| Z26tCt= AFMIL|CE BHX| comma
20t = 7 O|A9| 2X0| HZE|US IHE run-on sentence error? 2AISH=L|, O] ff EHAi5H=

errorE comma splice2t™ X|&5t7| = giL|Ct T2 2&A 22 run-on sentence error?}
HEAHSH OI|_|[:|.

EC)I_

Sentences A sentence
All of my friends boycotted the concert. All of my friends boycotted the concerty ticket prices
Ticket prices were outrageous.
were outrageous.

Recently the population of Kirkland has
Recently the population of Kirkland has grown, @ nd

grown.
Our traffic problems have also grown. our traffic problems have also grown.

Dave may study architecture. Dave may study architecture or become a contractor,

Dave become a contractor.
He likes buildings. fOI" he likes buildings.



Sentences

All of my friends boycotted the concert.

Ticket prices were outrageous.

Recently the population of Kirkland has
grown.
Our traffic problems have also grown.

Dave may study architecture.
Dave become a contractor.
He likes buildings.

St OlR7F BANEQ? Zetel 282 9Z &|7| ojne 28
M XI0|E E0{E = &Hofl glsLIch &, ot 20|l o B2
et o+ ELIC o 2AEE 0| B 28 SSiM 2
HEEE =2 = AsLIL

A sentence

All of my friends boycotted the concert; ticket prices were
outrageous.

Recently the population of Kirkland has grown, and our
traffic problems have also grown.

Dave may study architecture or become a contractor, for

he likes buildings.
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nor
but
or
yet
SO

; (semi-colon)

0|0 AZSt HiQt ZH0| 21 EHE A A5t M HIEA| HEALC| =2 BIOLof §iL|CH LHEA 2
A7t e = 7 o|&e| EEE thas| stLie| EHo = DS & [ AR &= HEAE SRS
Al(coordinating conjunciton)O|2f 2ELICt 05 7tX|e| HEAL SUTSAO| =& ElL|CE
9 T2t A FANBOYSEL 7[5HH Z&LICE. Semi-colon2 FANBOYS2| 1 OfTH &AL
T AEte SMo2 ASE £ JELICH

3|, because®t H|8t 20|12 =

becauseE MM E|X| L2727

Sentences

All of my friends boycotted the concert.
Ticket prices were outrageous.

Recently the population of Kirkland has
grown.

Our traffic problems have also grown.

Dave may study architecture.
Dave become a contractor
He likes buildings.

SI5HE for/t SATSBA| Eet=l O|fE RBALNR? Ot
A0t HF|HNML.
A sentence

All of my friends boycotted the concert; ticket prices were
outrageous.

Recently the population of Kirkland has grown, and our
traffic problems have also grown.

Dave may study architecture or become a contractor, for
he likes buildings.
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All of my friends boycotted the concert

Recently the population of Kirkland has
grown

Dave may study architecture
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ticket prices were outrageous.
our traffic problems have also grown.

become a contractor,
he likes buildings.
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CH2o| AAZ0 = BEAHadjective)2M &AL 282 5HX| 25t= AUEQILICHadverbial
n- gtstL|C 20|t

transition). [[I2fA] FHEAF Q0] AFR E[RUCHH ru
SHH| HIEA| 27 |SHEMQ.

on sentence errorg §

also, consequently, finally, however, likewise, moreover, furthermore,
nevertheless, otherwise, then, therefore, thus, thereby

Question) In their zeal to make beachfront living widely available, developers
have overbuilt, thereby they endanger fragile coastlines.

thereby= RAIZM BEAL 7|52 >SHA| ZELICEH = 12| 2F0] ZEAL g0l AZEK @
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A sentence

Someone wins the game.

The weather forecaster predicts
tomorrow’s weather.

Your seat assignment depends
on the situation.

o2 E&O| LIS 7H|5t siE 4 JELICH Z 7
{5101 2FS 0Tl S8 (subordinate clause)= 2%
HX|AFTE BHELICH SEE0| YAt 7|52 sdisiC

Y40 HHE E2 tiXsto] LIgS

Txl|2ket 21t

Whoever score the most runs wins the
game.

The weather forecaster predicts that
tomorrow will be sunny.

Your seat assignment depends on when
you arrive.
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SEER2 RS 2N 7] 2% 2HolM HAIR 7|5 510] 2EeA dets sallstHLE TX|At}
A5t XA E HE= SH0| A8 & == U=, 0l &3 7|52 Yotz 20| =230
zotel 22, ZEet E 222 FH(main clause)2tdl X|&stD, EF 7|58 ©Eot7| 2l5t0]
Eot=l M2 S2HM(subordinate clause)2t X|&IEHL|CY,
A sentence TS =3
Whoever score the most runs :
Whoever score the most runs ... wins the game

wins the game.

The weather forecaster predicts
that tomorrow will be sunny.

Your seat assignment depends
on when you arrive.

The weather forecaster

that tomorrow will be sunny. )
predicts ...

Your seat assignment

when you arrive.
y depends on ...

SR 22| 52| Mel= HEMRE 22| 2 BEVHKIYLCE
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Subordinating Conjunctions

that, what, whether, if,
whoever, how, whatever,
when, where, whether,
whichever, which, who,

HAE
noun clause

whoever, why

* My greatest asset is that | am a hard worker.
® Whoever thought of the idea is a genius.

® The focus of how we can satisfy customers
most effectively.

e Choose a gift for whomever you want.

e | wonder how long we should wait here.

* | am packing extra snacks for when we get
hungry.

* Always give audience whichever you perform
for a great show.

OtE = ™AL | ZH(that, what, whether, if)2] EZ1} Xjo|H S &

« that2| 22 a6l HO|2t= AHE & 5= U= R0l Mkt |

* whether®} ife| X0|= HE&5l2 = option2| £=(F 7H vs. M| 7H o|&h)oll ACt= H

« what2 ARLO| ZE= BAEO| 2ot E8Q4aLt TXAIRE ZefEl HA/MEALE 285t QU
7| t=2oll ZoilM sHE HAY/C AR W2E[0] = AMEH 2eltt= |

Conjunctions

noun clause

| think that he is a liar.

The fact that he is a liar surprised me.

that * | bought a box that eventually helped me to move out.
adjective clause
« | think (that) he is a liar.
« | think that he is a liar.
that/what noun clause
¢ | know what he knows.
. * | don’t know whether he will come on Friday.
whether/if noun clause

| don’t know if he will come on Friday.
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E HSAQ Zet|0] 2EUZE H2 BA7|5E sdcts AR V(s 2LICH 02229 =0 =t CiE
2ol ZAH™EATL HAPE (adverbial clause)E BtE= 2X0f| At EIL|CT
Sentence HE 402 A5 LHIES Alskst At
, ) Richard has studied ants since he was A Al
Richard has studied ants. . [: 2;”
in kindergarten. SAE
, Whenever he found anything written 2210
He read it. _ o L
about ants, he read it. At
The queen ruled more powerfully than
Th led fully. her earl Id h FH0]
e queen ruled powerfully. her early supporters could have b
imagined.
Th h h ; [=410]]
. ough her part was small, | liked the
| liked the actress. ho olaved the villai SAE
actress who played the villain. gAY



BAIZ 7|sote 4530 20| EH 7|52 Yotz Ho| 280 =
2%2 FH(main clause)2t X250, EH 7158 57| {5t

(subordinate clause)2t X|&EtLICE.

WE EBSH=H A8 &=

A sentence

Richard has studied ants since
he was in kindergarten.

Whenever he found anything
written about ants, he read it.

The queen ruled more
powerfully than her early
supporters could have
imagined.

Though her part was small,

| liked the actress who
played the villain.

1 0[] BAREZ FH9|

BEAFE2 H|uo| 9|0 Eolst= ¥

£0{E A3t SiFELICE

O

A
==

subordinate clause
since he was in kindergarten

Whenever he found anything
written about ants

than her early supporters could
have imagined

Though her part was small
who played the villain

ZAILE RALE A} s FX

<X
=

main clause

Richard has studied ants

he read it

The queen ruled more
powerfully

| liked the actress

£7H0| el HAARE Ho| T BEx/eLIC



Ct2el BL/EAE= BAL 7|58 oddste Z5ES UELICL $£24]0|E oS0z
HEAO|E 2 Crggt 2J0|E HEoie =+ Q= IS0| 25 =0 SLICEH
Subordinating Conjunctions
They remodeled the library while school was
; h ; | out.
Before, when, r, until,
e.o ¢ en, atter, unt ) When | study, | do well on my tests.
while, as soon as, to show time )
She mailed the letter as soon as she could.
whenever, as long as .
Before the tornado hit, grandma called to
warn us.
Since the tutoring lab opened up, he's been
because, since, so that, in to show cause and doing better with math.
order that effect or purpose She can't wait for snow because she loves to
ski.
The crickets begin chirping whenever night
if, unless, whenever to show a condition falls.

If you need help, you only need to ask.

though, although, even

to show contrast
though, whereas

The flower bloomed even though it was
winter.

Though | don’t get to ride, | still love horses.

as if, as though to show similarity

He spoke as if he knew the topic well.

where, wherever to show place

Wherever Mary went, the lamb followed.

21
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o R Mol HEME Hot= 27K EYAEY HE 282 X 27| sty
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Question) Airport runways must be constantly swept clear of trash and
other debris that could be sucked into a jet-engine intake or it could
cause a serious accident.

& Eol LiE0| Jelzt 21 2t

n] A2 Z, or7t OF:l becauseZ ¢1Z
E|0{of gfL|Ct.
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SACHEALRE Zelol SEEQ HAE2 AL 7SS AR

A sentence 2 AU ZE AEsI0| LIE2 NSt 2t

A friend of mine who attends a music academy

is very talented. =40

A friend of mine is very talented. / grg_ipcl
oo =

friend « who attends a music academy

He wrote a short piece that the city orchestra

will play in its next program.
i Preg [%Al01]

He wrote a short piece. -
P SEAHA

piece + that the city orchestra will play in its
next program

24
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Subordinating Conjunctions

* | like the woman who lives next door.
ZHA[CHEAL

that, which, who )
(relative pronoun)

* | bought a new car that is very fast.
* We bought a house which is 200 years old.

25
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A A= 22, 222 EY2 M2 ofahsieH & e 2&E
=g 101 AZSHEHSLICY.

AZst= LS LOof eLC o2l 2&S HAHHALS ALES
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She was dancing with a student.
He had a slight limp.

[Z2] HA| =] F J7HX| TH| =2 5tol|M ZAHHALS 288t

4n
MO
oz
10
gl
]
o
-l
ofr
ot
=
o

1) 912l £ 2334 20| 22 IBE WA 2 oY NFol 2 HHBALS 8T Uofof Huict
[2] 8t 230| T2 230 Z&E BT BA/HYAIS 7RIS SFE LSS 2o Qlofof BLict

Ake| Lol F71xel g

AEEE) S2S o

[ A W oA = 2Ze '-H'Q' "*71|E mpetatof gL Ef 1 01'— -E—’é O] CtE =& Zetel SS& YA/UY
O ‘| EI:—II.—_,L
C

She was dancing with a student. < He had a slight limp.

[AZE F Ww o) 2AE = HetE 2ES TtefAntH, sie 280 ZotEl SSE SA/HEAS tHEAt B&
Al Sfgts SA0] sliF= BAIHYALZ ChRIELICH SSE SA/HEAZE ALZIO0|2HHE whoE, AFZO0[2HH ZHA|Ch

YAF which/thatS AERLICH O I SSE! HA/HBAS| H(case)at HACHEAIR| AS HF0{ F0{0F L
Ct.

l_l

She was dancing with a student. < (He = who) had a slight limp.

W £ BIEE IS 17 20| ZRE YA B2 CHYAL HEE CHSO| 9IF] A7l AloR &

I [] &
BE HZELICL #AHEO| BLHEE J|S5hH= E&(complex sentence)?t BFEEO R ELICE

She was dancing with a student who had a slight limp.
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SAHHEALS 0|8t & Z&2| 12 SIS tt3at 20| ekt 2AS) s = 4= ASLICH

I'm looking after some children. They are terribly spoilt.

I'm looking after some children who are terribly spoilt.
£2, The children (whom) I'm looking after are terribly spoilt.

* HOl2t= AR E éi*é 2 = A= SHEIE S0M, F0t &
O7h Z&t=[0f E VEfO| E)o| HEAt=s MEke|7| = Bt 5
0|2 AHEE that YAMEO[LL, SHZO| AL AL 0] <0 3
e

who + they ;x___chi:éldren

eS|
O |

27



AMd, EAESE MESHH HZE = = B82 SPIESAR! andE AMESIM HZ5H= AT 7t
S

She was dancing with a student.

2t © & 2% , :

= N He had a slight limp.

SHTESAIRE HZ She was dancing with a student, and he had a slight limp.
ZACHEALZ 2 She was dancing with a student who had a slight limp.

and& AF8310{ Z&(compound sentence) YEHE F BES AASHK| ot1, A CHHALE A
8310 5Z(complex sentence) HEIEZ & &S ¢Zst= 0

HO| UABLICIEL, BACNYADE XS S44 ZEE B2 Marsloi & 23S ZaE 4
RUCH= AN 22 BR[M(economy) HELILICH SYWSALS A A0 22|, Watst 4
A BAIS E3SHE 4 QIrHe B she AHoR B 4 Lt
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ZACHEARE ZotEl MX|AMIE S A8 =R =71E mtef 5t 53 E Fd5k= X7t A E
LICt 2AZO0 %01 £ 28 S M= Ofslfstal QICHH, e HARS e
g o= QUCHA, ofF 2| E o= A= ESHYLIC.

Th r over which | w lephoning w noisy that | ldn’
BARof maEl FAIAL e bar ove c as telephoning és so noisy that | couldn’t
hear the person at the other end of the line.

[1] which = bar

[2] | was telephoning over the bar.

O|&fstE?

| was telephoning from the bar. 2t11 5H= 20| f&LICH

The bar from which | was telephoning was so noisy that | couldn’t hear
the person at the other end of the line.

AR Zetel HRIAe| HetdS HESE iy HARS e 2Ee= SR6iA XgE
HXIAL AL O1R 2| XMty S A 23 ELot
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HACHEALS] Z(case)ofl THE XetdE 2= SRk A5 A ElLITh A, J_'-f71|"*0| SO0 X|
L

—

o
82 HCH2 ofsH5tn QICHH, TaM BAES o] 2RoR el & 4 QICkH, Of 3
A Z % e g3ol ERYLIC

J__'
=
[

A0 ZehEl TR

=l TX|AL | was given this address by a man who | met on a train,

| met a man on a train.

a man2 AE=Z Hetel EF0M X = A=A H0|E? ATHHEAZL a man
CHl AME |00 StE2, SXZAo 2 HF SHR0{ F0{0F LTt

| was given this address by a man whom | met on a train,

BACHYA Ho| MBS BTrslziE ST RS iejo| 2ROz SN BAUYADL X
Blst ciyel 22 EolazEnl Eluict,
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Joj= o3t 22 Ml 7| SRS BEAE ®MSste ASLICEH

SA™ESA FANBOYS

(coordinating (For, And, Nor, But, Or, Yet,

conjunction) So)

as, because, when, while,

(subordinating Wherﬁs;’lltﬁgﬁugh,

conjunction)

SSESAM

not only ... but also
not ... but
either ... or ...

AEEAN
(correlative
conjunction)

H&(simple sentence)

HEA| 2lsiM CHE 28 HZEX| g2 =8

o

rlo

HO

« Z&(compound sentence)

« Z3E Zt 222 S E(independent clause)O|2t
MPNES

« §&(complex sentence)

« 2eE ZEOIM SETESA ZotEl BE S5F
(subordinate clause &2 dependent clause), Lt

HX| 222 FE(main clause)0|2t1 X|H

« 2&(compound-complex sentence)
-%%mEPNOVHmHﬂ:E§—=°H¢Mﬂ
ZAMAAL0| 25HAM M| 7H 0|Ate] 2xt0| Y1ZE|0f Bt

Though Mike prefers washing romantic films, he
rented the latest spy thriller, and he enjoyed it
very much.

Laura forgot her friend’s birthday, so she sent
her a card when she finally remembered.

- 0Ol ChAtS WHUTEE SiELG A8
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Z3, B2, 52, 22, £ i8S A%
g FasAte SRYLICE ufehM, 230

St= A2 &2 AE5H7| flsiM AL
&= (sentence structure types)S

BRI T 2R A5 QoM ALRE HaAle] ZRE BHEA| 2O[of 5}
1, SER LA CHsM AFRE FAle] oln], B4} Rofsts Hel 7|50
BHEA| OJ£3HK QLO{OF BHLICH.
R - 3= SeEAA BRE LIS HBote 20| T o1
OE - =& E4TAM OIZIEI [12 M2 BERA 52 24012 7|5
= S 3
T2 > S  SHEas+ 3aaM  ZER+ 282
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